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Funestion CalcPi(i As Integer, T As Dauble) As Double
Dim K1. K2, X As Doubie
= TR 22 ALTAT R =3 AU AL
K1 = Hf(i =1, 7653, IIf(i = 2, 8.198, 7.838))
K2 = Ii(i = 1, 2301#%, lIfli = 2, 2864#, 26488,
X=KI-K2/T
CalcPi = Exp{X)
End Funsticn
IR DOEREUE
Function CalcPj{i As Integer, T As Double, X1 As Double, _
X2 As Double, X3 As Double) As Double
Dim Xi, Ptotal, PartialPress As Double
Xi= MG =1, X1, IIfi = 2, X2, X3
Ptotal = O#
Ptotal = X1 * CalePi(1, T) + X2 * CalcPi(2, T} + _
X3 * CalePi(3, T)
PartialPress = Ptotal - Xi * CalcPi(i, T)
CaicPj = PartialPress / [1# - Xi)
End Function
FREHEROHE
Function CalcXi(i As Integer, T As Double, X1 As Double, _
X2 As Double, X3 As Double. Wratio As Double) As Deuble
Dim Xf, Xmax, Xmin, Xave, Pi, Pj As Double
Dim Xterm1, Xterm2. Xfuncl1, Xfunc2, Xfunc As Double
Dim Wterm, Wfune, Diff, DiffAbs As Double
Dim rep As Integer
'HHEORE
Xf= M0 =1, X1, [If(i = 2, X2, X3)
Kmax = lIf{i =1, (Xf - 0.0005), 0.9999)
Kmin = (i = 1, 0.0005, IIf(i = 2. Xf. 0.0005)}
CHEBERERSO SHE
Pi = CalcPili. T)
Pj = CalePj(i, T, X1, X2, X3}
Wterm = Pi - Pj
rep = 0
Do
rep=rep+ 1
Xave = 0.5 * {Xmax + Xmin)
Xterm1 = (1# - Xf) / (1# - Xave)
Xterm2 = Xave / Xf
Xfuncl = Pi * Log{Xterm1)
Xfunc2 = P ¥ Log(Xterm2)
Xfunc = Xfuncl + Xfunc2
Wfunc = Wterm * Log{Wratio)
Diff = Xfunc — Wfunc
DiffAbs = Abs{{Xfunc — Wfunc)}
CREESOEHELEADED Y MIRET LET)
If DiffAbs <= 0.0001 Then
Exit Do
End If
Xmax = |If{Diff »= 0, Xave, Xmax)
Xmin = H{Diff >= 0, Xmin, Xave)
Loop Until {rep >= 200)
CaleXi = Xave
End Function
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